
TSTE86 Homework 5: Solution 
 

The clock skew between register 1 and 2 is δ = ∆1 – ∆0. 
 
 
Constraint on minimum clock period 
 
 Tclk + δ = Tclk + ∆1 – ∆0 ≥ tc-q + tlogic + tsu 
 
  ⇒ 
 
 ∆0 ≤ Tclk + ∆1 – tc-q – tlogic – tsu  = 1000 + 300 – 250 – 500 – 150 ps = 400 ps 
 
 
Constraint on minimum propagation delay 
 
 δ + thold = ∆1 – ∆0 + thold < tc-q,cd + tlogic,cd 
 
  ⇒ 
 
 ∆0 > ∆1 + thold – tc-q,cd – tlogic,cd = 300 + 100 – 200 – 450 ps = –250 ps 
 
 However, for plain delay ∆0 ≥ 0 ps 
 
 
Range of delay ∆0 
 
 Assuming normal clock and delay:  0 ps ≤ ∆0 < 400 ps 
  
 Assuming special clocking arrangement: –250 ps ≤ ∆0 < 400 ps 


